7.3 Notes.gwb - 1/14 - Thu Jan 11 2018 09:52:35

Bellringer

The perimeter of one square is
given as 4x. Its perimeter is equal to
the perimeter of a rectangle given
as 2.5x + 3.75.What is the perimeter
of each figure?

I/, 1_ 3
Solve X — 5= 16x+5
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7.3 Equations with the Distributive Property

8.EE.7b
Solve linear equations with rational coefficients, including equations whose solutions require
expanding expressions using the distributive property and collecting like terms
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A >
A Solve:3(x+5)+1=2+x
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] ~ )
B Solve:5+-7k=—-4(k+1)+3
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ADDITIONAL EXAMPLE 1
A\

A Solve:2(x+6)+3=4
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B Solve:3x+8=10 +‘@)
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YOUR TURN

1. y+5=3+9y+2)

~A ¥

Solve each equation.

2.

A N B
2x+7)+10=12 + 4x
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ADDITIONAL EXAMPLE 2

Solve: —2(5 — 2y) = —3(y — 5) — 18
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YOUR TURN Solve each equation.

3. —4(-5-—b)=1(b+16) 4. 2t+18)=-32-1
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The Coleman family had their bill at a restaurant reduced
by $7.50 because of a special discount. They left a tip of

$8.90, which was 20% of the reduced amount. How much
was their bill before the discount?
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YOUR TURN

5. The Smiths spend 8% of their budget on entertainment.
Their total budget this year is $2,000 more than last
year, and this year they plan to spend $3,840 on
entertainment. What was their total budget last year?
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Guided Practice

1. 4(x+8)—4=34—2x(Ex. 1)
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Guided Practice

3. —3(x+4)+15=6—4x(Ex. 1) 5. x—9=8(2x+3)—18(Ex. 1)
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